Run Me a Linear Regression worksheet

Do heavier cars really use more gasoline? Suppose that a car is chosen at random. Let x be the weight of the car in hundreds of pounds, and let y be the miles per gallon. 

	x
	27
	44
	32
	47
	23
	40
	34
	52

	y
	30
	19
	24
	13
	29
	17
	21
	14



Run a linear regression using the calculator and answer the following questions. 
1.) What is the regression equation?

2.) What does ‘a’ represent and what is the meaning of this value in relation to this situation?







3.) What does ‘b’ represent and what is the meaning of this value in relation to this situation?







4.) What does ‘r’ represent and what is the meaning of this value in relation to this situation?







5.) What does ‘r2’ represent and what is the meaning of this value in relation to this situation?






6.) Do you think that the weight of a car is a good indicator of the miles per gallon?  Justify your answer.


